317cam Carta Cami

Suggested yarn:
* Pierrot Yarns Carta [90% cotton, 10% silk; 133 yds/122m per 1.4 0z./40g skein]; color #57 corn cream, 6 skeins [210q]

Tools/Notions:
+ 3.0 (US 2v2) and 3.3mm (approx. US 3) knitting needles or sizes necessary to achieve gauge

Finished measurements:
* bust 96cm/37.8"
X « back length 58.5cm/23.0"

Gauge (10cm/4" square):
* moss stitch: 26 sts and 32 rows
+ k1p1 ribbing (with smaller needles): 30 sts and 35 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.
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-----------------------------------------------------------------------------------------------------------------------------------------------------------

Summary
Body: Cast on with long-tail cast-on method. Work in k1p1 ribbing. Continue in moss stitch, decreasing on first row of seed stitch as shown in schematic. Refer to charts for shaping of
armholes and neckline. Bind off in pattern.

Finishing: Seam sides with mattress stitch. Seam shoulders with whipstitch.
Abbreviations:

BO =bind off

CO =caston

k = knit

p = purl

------------------------------------------------------------------------------------------------------------------------------------------------------------

© 2019 Pierrot Yarns (Gosyo Co., Ltd.). Translation by LinguaForge, LLC. All rights reserved.
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Back shaping
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Front shaping

50

y [ ]

[]

[1]knit

— =1 [= >N - 1= — = s — = [=
= = |- = > = |- = |- < - = =] |-
EREEE EREE = e = EREEE
— — — — — — — — — 30 — — — —
= = 1= K e = [= = = - >N = = [=
e EEEEEEEY = EmEn EEEEE EREEE
ENEEE EEEEES EEE ENE = EEENE
= = 1= = = 1=l 1= N = = = 1= A< e I e I - = 1=
= =] I= = = = > | = = [= i< - = =l =
o I e O 4 — =" 1="T=I>% = 1= — = K= — >N =1 1="1=
] e O = == === i I = =120 <= ] e I = ==
= =l = - e I S >N = = = = | < = |- = = = = [=
= = = — = = =] = — >k 1= — = P = 1= — — =1 1="1=
SR SRR e e Z = == == = —= = SR
— — — K= — — — — — — L — — — — — — — — — > — — —
= =] = - = =l =] 1= - >N = [= - = 4 - - = - - = = =
= =1 = - =1 = =] [= - = >k = [= = = K - =1 = - - = =] [=
=== o ot e B = =k -30sts == == -30sts &= == = === ===
= = |= =3 = = =] =] [=] [= - - N = = = [= 4 =T 1= — 1 =1 1= = 1=
= 1=1= — = = === = = > - = = 1=1110 K= — 1= = = — ==
— — — — — — — — — — — — —[>x — — — — A< |= — — — — — — — — —
— == B R B R e = e = = 1 == o= T = —= = SR
= =] = A= = == = =] = - = [=] [= = [= = [= < == =] =] = - = =l [= N = [=] [=
ERERE = === = = L = ERE == = = = = ERERE
el I e I =1 [= el I el I e O — e I e I >N = [= =1 =11 Dl el e e L — - |= - - [ I el O
BN R R R = === 2P = N e == = — == = SR e
=1 1=1"1= A< =1 1= 1= = 1= I=1I"1= — o I e O - > i = 1= P! = =" 1= 1=l 1=["1=1I"1= - =1 1=11= >} =1 I=-11=
ERERE = === = = =T e e < == = = = = = ERERE
S -15 sts = S = SRR R P R = = = = -15 sts R
= =] [= <= = (= = =] =] [=] [= - = =1 = = = =l =l =] =] [=] [= = = = = = =] =] =] [= = = =] [= = >N = =1 =
— — — A< — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — > — — —
=1 =1 = L= = 1= = === 1=[1]= - =1 =1 = = = =l == [=[1=] 1= -1 |- = =1 1= 1=l 1= 1=11= - =1 =1 1= = =1k e
= -l = < = = =] [=] (=] [=[ = I=] |I= - = =l = = = = = =] =] =] = = [= = = === 1="1= — 1 =1 1= - = BN = 1=
ERERE &= = === = = e e e e B R == = = = = = 5 ERERE
= = 1= & - = = =1 = 1=11= - L I e = = ==l === = == 1= = = =1 1= — e - - — = >k = = [=
=1 1=1"1= AL T=l == I=I" =" = 1=l = 1= T=1I"1= — o I e O =1 1= 1=l == 1= 1=1= = 1= = =" 1= 1=l 1=["1=1I"1= - =1 1=11= = 1= 1= T=1> =1 I=-11=
= 1="1=1 K = =l 1= 1=l 1= =" I= 1= 1=l"1=1= — = |=11= =1 = =l == 1=1=1= = |= = =l 1= 1=l 1=[1=1"1= — =1 =11= = == 1= N [= = =

]

| |

| |

80

70 60 158
front
center

20

66

60

50

40

30

20

10

<1



